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SECOND YEAR HIGHER SECONDARY
SECOND TERMINAL EXAMINATION, DECEMBER-2024

Part — 11
ACCOUNTANCY WITH COMPUTERISED ACCOUNTING

Maximum : 60 Scores
Time : 2 Hours

Cool-off time : 15 Minutes

/ General Instructions to Candidates : w
® There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.
Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.

Give equations wherever necessary.
Electronic devices except non-programmable calculators are not allowed in the

Examination Hall.
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PART - A

(ACCOUNTANCY) (40 Scores)

L. Answer any 5 questions from 1 to 6, Each carries [ score, (5x1=5)

1. Ifthe Partnership Deed is silent, interest is payable on capital.

(a) 5% b) 4%
() 6% i (d) No

2. Ajay and Vijay are partners sharing profits in the ratio of

5 : 3. They admit Ajnas as a
new partner for 1/10 share. Sacrificing ratio of Ajay and V

ijay will be

3.  Total Assets (excluding goodwill) — Outside Liabilities = ?
(a)  Super profit (b) Normal profit
(¢) Net Assets ; (d) Goodwill

On death of a partner, the deceased partner’s capital account will be credited with

(@) His share of Goodwill
(b) Goodwill of the firm

(c) Shares of goodwill of remaining partners
(d) None of these

5. On admission uf a new partner, increase in the value of assets is credited to

—— e

(a) Assets A/c (b)  Profit & Loss Adjustment A/c
(c) New partner’s Capital A/c (d) None of these

6.  The debit balance in Profit & Loss Account shown in the Balance She

¢t at the time of
retirement of a partner is

(@) Accumulated Loss (b) Accumulated Profit

(¢) General Reserve (d) Revaluation Loss
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Il.  Answer any 4 questions from 7 to 11. Each carries 2 scores. : (4x2=8)

7. List down the various circumstances needed for the valuation of Goodwill in a

partnership firm.

8. A, B and C were partners in a firm sharing profits in 3 : 2 : | ratio, They admit ‘D’ for
10% profits. Calculate the new profit sharing ratio.

9. Ichu and Nachu are partners in a firm sharing profits and losses in the ratio of 3 : 2.
They admit Chinnu as a new partner for 1/5 share of profit. Chinnu brings ¥ 20,000 as

capital and ¥ 4,000 as his share of goodwill. Give necessary journal entries when the

amount of goodwill is retained in the business.

10.  Anu, Binu and Cinu are equal partners. Binu retires. On the date of his retirement, the

Balaﬁce Sheet of the firm showed a debit balance of Profit and Loss A/c T 15,000 and
General Reserve 2 36,000.

Pass necessary journal entries,

11. Abhi, Shafi and Roy are partners sharing profits in the ratio of 3: 2 : 1. Shafi died on

June 30, 2024. Goodwill of the firm is valued at ¥ 1,20,000. Pass necessary journal
entry for the treatment of Goodwill,

III. Answer any 5 questions from 12 to 17. Each carries 3 scores, 5x3= 15)

12. Afirmhasa capital investment of ¥ 2,00,000. The normal rate of return ig 15%. During
the year 2024, the firm earned a profit of ¥ 48,000. Calculate the value of Goodwil| on
the basis of three years’ purchase of super profit.
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14.  Give journal entries at the time of admission of a partner,

(@) Unrecorded investment worth ¢ 20,000,

(b) Stock is found overvalued by ¥ 5,000.

(¢) Creditors include 7 6350 not likely to be claimed.

15. (a) Whatis Profit & Loss Adjustment Account ? (1)

(b) Mention any two differences between Sacrificing Ratio and Gaining Ratio. (2)

16. (a) Anand has a capital balance of T 30,000 at the beginning of the year. In the

middle of the year, he withdrew ¥ 10,000 from his capital. Calculate interest on
capital of Anand @ 10% p.a.

2
(b) Sabu, a partner withdrew ¥ 10,000 from the business duting the year 2024 fo
personal purpose. Calculate intgrcst on drawings @ 10% p.a. | (lj
17.  Ziyad, Joshy and Sunil are partners in a firm sharing profits in the ratio of 5 : 4 - 1.
Sunil died on 30™ September, 2024. His share of profit was to be calculated on the basis
of last year’s profit which was 2 1,20,000.
(3) Calculate Sunil’s share of profit, Q)
(b)  Pass necessary journal entry for the same, 1)

(Hint : Accounts are closed on 31* December)
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IV. Answer any 2 questions from 18 to 20. Each carriles 6 scores, 2x6=12)

18.  John and Don are partners in a firm sharing profits in the ratio of 2 : 1. Shon is admitted

into the firm with 1/4 share in profits. He will bring
of John and Don are to be adjusted in the profit sh
John and Don as on March 31, 2024 (before Shon’s

in ¥ 30,000 as capital and capitals
aring ratio, The Balance Sheet of

admission) was as under :

~ Balance Sheet as on March 31, 2024

Liabilities Amount p— Amount
| ® | ®

Creditors 7,000 | Cash in hand 20,000
Bills payable 10,000 | Debtors 10,000
General Reserve 15,000 | Stock . 25,000
Capital : Furniture 15,000
John 50,000 Machi_nery - 50,000

Don  _38,000 88,000
1,20,000 . | 1,20,000

Other terms of agreement are as under ;

(i)  Shon will bring in ¥ 12,000 as his share of goodwill.

(i) Fumniture was valued at T 17,000 and Machinery at ¥ 45,000,
(iii) A provision for bad debts is to be created @ 6% on debtors,

(iv) The capital accounts of John and Don are to be adjusted b

Y opening current
accounts.

Show necessary ledger accounts.
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19. Kamal and Kiran are partners in a firm sharing profits and losses in the ratio of 2 : 1.

The balance in their capital and current accounts as on 01/04/2024 were :
Capital A/c : Kamal ¥ 4,00,000 ; Kiran? 3,00,000

Current A/c (Cr.) : Kamal ? 90,000 ; Kiran ¥ 70,000

The deed provided that Kamal is to be paid a salary of ¥ 5,000 per month and Kiran is
to be given a commission of ¥ 48,000 for a year. Interest on capital is to be allowed
@ 8% p.a. The drawings of Kamal and Kiran for the year were T 40,000 and 7 20,000

respectively. Interest on drawings for Kamal was 2 1,250 and for Kiran was ¥ 750. The

net profit before making these adjustments were 2 1,81,000.

Prepare Profit and Losg Appropriation A/c and Partners’ Current A/c.

20. (a) Mohan, Babu and Anas ﬁre partners in a firm sharing profits in the ratio of 2 : 1 4

Babu retires and Mohan and Anas decided that the capital of the new firm will be
fixed at ¥ 2,40,000. The capital accounts of Mohan and Anas show a credit
balance of ¥ 1,64,000 and 82,000 respectively after making all the adjustments,

Calculate the actual cash to be paid off or to be brought in by the continuing

3)

partners and pass the necessary journal entries.

(b) Rosy, Lilly and Jhinsi are partners. Rosy retires. Calculate the New profit ratio of
continuing partners if they agree to acquire her share
(1) inthe ratioof 5:3

(1) in the ratio of 2 : |

(iii) Equally 3)
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21,

22,

23.

24,

25.

26.

27,

PART - B
(COMPUTERISED ACCOUNTING) (20 Scores)

Answer any 3 questions from 21 to 24. Each carries 1 score. Bx1=3)
= COUNT (45, 24, Ab, 55, 72, Ab) returns

The financial function used for preparing a Loan Repayment Schedule is

The chart generally used to show the relationship among two variables is
(a) Area Chart (b)

(¢) Donut Chart

Scatter Chart
(d) Radar Chart

GNUKhata opens Opening Stock Account under
(a) Direct Expense

_____ group.
(b) Direct Income

(c) Current Asset (d) Indirect Expense

Answer any 4 questions from 25 to 29. Each carries 2 scores,

(4x2=8)
Identify the group uﬁder which the following ledgers are to be created :
(a) Drawings (b) Sales Return
(c) Depreciation (d) Preliminary Expenses

Write the path in GNUKhata :
(@) to display Trial Balance.
(b) to delete Ledger Accounts.

Explain any two elements of a Chart/Graph from the following :

(a) Data Label
(b) Cha;t floor
(c) Legend
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28. Write short notes on :
(a) Donut chart

(b) Exploded pie-chart

29.  State the reason for the errors given below :
(a) #NAME Error,

(b) ### Error.

VIL. Answer any 3 questions from 30 to 33. Each carries 3 scores,

3x3=9)
30. Describe the security features of CAS,
31. List out the features of GNUKhata.

32. From the given details, write the formula for the following calculations using

spreadsheet ; '
Cell Al B1 Cl D1 El
Content Name BP DA HRA Gross Pay
(20% of BP) | (10% of BP)

() DA incell C2
(ii) HRA in cell D2
(iii)) Gross Pay in cell E2

33. Explain the following functions and give its syntax :

(a) RATE
(b) CONCATENATE
(c) NPV
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